Name: Contestant Number: School:

University of Wyoming “Cowboy Classic” Fall 2013
Agriculture Technology and Mechanical Systems Career Development Event
Energy System Activity

You have recently accepted a position at Bloedorn Lumber Company in Laramie, Wyoming.
Part of your job description includes the maintenance of all rental equipment handled by the
company. While performing scheduled required maintenance, you notice that a Briggs &
Stratton L-head engine on one of the log splitters is running poorly and you want to have it in
top running condition before someone rents it again. You have determined that the cause of
the condition is one of three things: the armature air gap is incorrect, the spark plug gap may
be incorrect, or the valve tappet clearance is incorrect. In order obtain the proper clearances
from the repair manual you must first identify the Model, Type, and Code of your engine. Be
sure to include both the minimum and maximum tolerances where necessary as well as
units of measure!

Model: * Type: * Code: *

1. Identify the correct tolerances for the following:

Armature Air Gap Spark Plug Gap Valve Tappet Clearance
.006 -.010 .030 Intake .005 -.007

Exhaust .007 -.009

2. What is the actual measurement of the armature air gap? ** 006 -.010

3. Is the spark plug gap out of tolerance? Yes

4. What is the actual measurement of both the intake and exhaust valve tappet clearance?
INTAKE:___** .005 -.007 EXHAUST:__**_.007 - .009

5. Which measured clearance(s) are not within the recommended tolerances? Include
whether the measured clearance is above or below tolerance as this can affect the treatment
required. Spark plug is below the recommended tolerance

6. What is the recommended treatment? Regap the spark plug to specifications.

Criterion Points Possible Points Earned
Questions 26
Safety 4

* Answers will vary, points included in total.

** Tolerance allowed for answer




